








The input file: 
5 

4 1 2 3 4 

3 0 4 2 

3 0 1 3 

3 0 2 4 

3 0 3 1 

5                       Expected 
3 1 2 3              Output 
3 0 3 4 

3 0 4 3 

4 0 2 4 1 

3 1 3 2 

8 

0 1 2 3 4 

0 2 1 3 4 

1 0 4 3 2 

1 4 0 3 2 

2 0 4 3 1 

2 4 0 3 1 

4 1 2 3 0 

4 2 1 3 0































Error- failed to read in 
student graph   1 
 







Error in trying to read in 
student group 
 
 

5 
3 1 2 3  
3 0 3 4  
3 0 4 3  
4 0 2 4 1  
3 1 3 2  
8 
( 0 1 2 3 4 ) 
( 0 1 4 3 2 ) 
( 0 2 1 4 3 ) 
( 0 2 3 4 1 ) 
( 0 3 2 1 4 ) 
( 0 3 4 1 2 ) 
( 0 4 1 2 3 ) 
( 0 4 3 2 1 ) 



Error in trying to read in 
student group. 



Error in automorphism 
group order:  
Wendy   8  
Student   0 
Comparing   0 
permutations 
Error- Wendy has more 
permutations. 



Error in automorphism 
group order:  
Wendy   8  
Student   7 
Comparing   7 permutations 
Error in permutation   0: 
Wendy  :  0  1  2  3  4  
Student:  3  0  1  4  2  




